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i) a) 00000 Fourier OO OOOODO.

1, |z|<a
f(z) = (1)
0, |z|]>a
b) a=3000, f(x) 000 Fourier 00O 0O0OODODOO.
.
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iii) a) f(x)DO0O0O0O00, Fourier 00 0000000000000O0O0O0O0O0OO

ooo.
k) = \/Z /0 " f(a) cos ka da, )
= \/Z/Ooo f(k) cos kx dk. (3)

D000 f(k)O (2)000000000f(k)0000000000
b) f(z)=e ™ m>00 Fowier 000000000
¢) 0000O0OOOOO,

* coskx T
——ndk = —e ", >0, z>0
/0 k2 + m? om° (m z>0)

gooood.
iv) Fourler 00 0000000000000 0OODO. DDDDf(k) = F{f(z)} =
752 S F@)e ™ da, f(a) = THI(R)} = S [25 f(k)e* dk, 00D
a) Flaf(z) + Bg(x)} = aF{f(2)} + BF{g(x)}
b) F{f(w — o)} = e”*F{f(x)}
¢) Fle™ f)} = f(k —ia)
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